The               1
is a typical part of the natural world. Lots of __________,__________ , _________, ​​​​​​____________ and ____________ are there. The trees are necessarry for us; they produce ​​​​​_____________. The trees with leaves are called ___________ trees. The _____________ trees have needles.

Put the words in the gaps:  animals, bushes, leafy, forest, plants, trees,  coniferous, mushrooms, oxygen
The Forest 2

Match  sentences:                          
	Lot of animals, plants, mushrooms, bushes                         and watch animals and plants there.



	The trees are nessesery for us,                                         pine-needles don´t fall down together.



	We can walk, pick berries or mushrooms                            they produce oxygen.



	Coniferous forests are styl green because                         and trees are there.




The Forest 3

Match  Czech and English sentences:                          
1. Lot of animals, plants, mushrooms, bushes and trees are there. 

2. The trees are nessesery for us, they produce oxygen. 

3. Leaves fall down in autmn. 

4. We can walk, pick berries or mushrooms and watch animals and plants there.
A.  Můžeme se v něm procházet, sbírat plody nebo houby a pozorovat zvířata a rostliny.
B.  Stromy jsou pro nás důležité, vyrábí kyslík.

C.  Listy opadávají na podzim.

D.  Spousta zvířat, rostlin, hub, keřů a stromů je v lese.
